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Lesson 5 At Home Problem Solutions

Problem # 5.5 P ( Z <2.03) = .9788
Problem #5.6 P (-0.91<Z <-0.33)=P(Z <-.33) - P(Z<-91)=.3707 - .1814 = .1893
Problem # 5.8 P (Z <1.55) = .9394

Problem # 5.9 Find z.02=P(Z < z,) = 1 —.02 = .9800; z,=2.05
Problem # 5.12
P(800 < X < 1100) = p220=1000 X-n 1100-1,000

250 o 250

=P(-8<Z<.4)

—P(Z < .4) - P(Z<—.8)=.6554— 2119 = 4435

Problem # 5.14

P(Z < ~z45) = .0800; ~z g5 =—14L; =7, = X=%: _1.41- X‘85° . x = 38.72
o

Problem # 5-17
X-u _ 8-72 B B )
== P(_>W)=P (Z>120)=1-P(Z<1.20)=1-.8849 = 1151
o .
Problem # 5.20
P(x > 150,000) = P(X‘“ _ 150,000-99.700

30,000

)=P(Z> 1.68)=1—-P(Z<1.68)=1—.9535 =

.0465
Problem # 5-21

P(Z< 24)=1-.06= 9400; 74 = 1.55; 7, = ROP=M: | 55 =%; ROP = 246.5
(6]
(rounded to 247)




